PDF 2022 9 Web
84 RiER SECHER sHLAdE » www.iwata-fa.jp

! NFUVIERER LAHE
~ — N " — — . 16

N sc ARY5—RtEY bAS 214168

ESHRICEKD T+ T MMTEEULTHBEVLEREIFET,

RABTR7Z YV TONHEREZ D ENTEET,

)
sz

229 BEMR -y IV Xy ¥ SUS304
HERS M8 RENE B JEZHI
$% S45C/ B# RANMIEDZS KIEH%E BED) 2K =
M | 8% S45C/EEBE— I AyFx | RAAMIEDZY (KIEH% SUSXM7) 27K SC 0307 B
S | ZF>LZ SUS304 RANFIEDZY (KIFHA% SUSXM7) 24K
ARE3mm. f87mm. 23
Bl
A N
Ql Ol m
S| & ©
(A]
L1
sc O 0.01 L +0.1

d’
) Sy
Ipata »pP.124



PDF 2022 9 Web

»P.698 »P.754 »P.754 85

2 it (F)
EE |WE| KRR A2 | mgx Y e P
~T7US5| 6B #D; L L ¢D M C:#ERS sy | bk | SUS304
(] (] sl

gggg 3 5 75 | 25 | 7 | xM3x3 | SC 0307 B 280 | 310 | 460

ggjg 4 6 75 | 25 | 8 | xM3x3 | SC0407(1B 280 | 310 | 460

69527

605ZZ | 5 7.2 75 | 25 11 *M3x3 SC 0507 1B 350 380 530

62527

60627 8.4 75 | 25 13 M3X3 SC 0607[_|B1 390 420 550

62672 | 6 9.2 75 | 25 | 13 M3x3 | SC 0607 B2 390 420 550

69627 8 75 | 25 | 13 M3x3 | SC 0607 B3 390 420 550

60822 1.7 95 | 25 | 18 M4x4 | SC 0809 |B1 420 500 660

628272 | 8 1.4 95 | 25 18 M4 X 4 SC 0809 B2 420 500 660

69877 10.4 95 | 25 18 M4 X 4 SC 0809 B3 420 500 660
600022 14.2 11 3 20 M5 X 6 SC 1011[B1 460 550 770
6200ZZ | 10 16.7 11 3 20 M5X 6 SC 1011 B2 460 550 770
690027 132 11 3 20 M5 X 6 SC 1011 B3 460 550 770
600127 17.2 1 3 22 M5 X6 SC 1211 B1 550 600 880
620127 | 12 17.7 11 3 22 M5 X 6 SC 1211 B2 550 600 880
690122 152 11 3 22 M5 X 6 SC 1211 B3 550 600 880 KPS
600272 202 | 11 3 25 | M5x6 | SC1511[]B1 600 680 930
620277 | 15 21.2 11 3 25 M5 X 6 SC 1511 B2 600 680 930
690277 18.7 11 3 25 M5 X 6 SC 1511 B3 600 680 930
600322 222 13 3 28 M6 X 6 SC 1713 B1 700 770 | 1,090
6203z | 17 24.2 13 3 28 M6 X 6 SC 1713[ B2 700 770 | 1,090
690322 20.2 13 3 28 M6 X 6 SC 1713 B3 700 770 | 1,090
600427 25.2 13 3 35 M6 %X 6 SC 2013 B1 750 820 | 1,200
620477 | 20 27.2 13 3 35 M6 X 6 SC 2013 B2 750 820 | 1,200
690477 24.7 13 3 35 M6 X 6 SC 2013 B3 750 820 | 1,200
600527 31.2 135 | 35 | 38 M6Xx6 | SC 2513 B1 820 930 | 1,530
620577 | 25 33.2 135 | 35 | 38 M6X6 | SC 2513[1B2 820 930 | 1,530
690527 30.2 135 | 35 | 38 M6 X 6 SC 2513 B3 820 930 | 1,530
600622 38.2 1565 | 35 | 45 M8X%8 SC 3015 B1 930 | 1,090 | 1,800
62062Z | 30 40.2 155 | 35 | 45 M8x 8 SC 3015 B2 930 | 1,090 | 1,800
690627 35.2 155 | 35 | 45 M8X 8 SC 3015 B3 930 | 1,090 | 1,800
600722 432 165 | 45 | 50 M8x8 | SC3516[1B1 | 1,200 | 1,310 | 2,180
62072Z | 35 46.2 165 | 45 | 50 M8x8 | SC3516[1B2 | 1,200 | 1,310 | 2,180
690722 41.2 165 | 45 | 50 M8x8 | SC3516[1B3 | 1,200 | 1,310 | 2,180
600827 48.2 185 | 45 60 M10x8 SC 4018[_|B1 1,640 | 1,800 | 2,840
620877 | 40 522 185 | 45 | 60 | M10x8 | SC40181B2 | 1,640 | 1,800 | 2,840
690827 46.2 185 | 45 | 60 | M10x8 | SC 4018 B3 | 1,640 | 1,800 | 2,840

KENEIED RN —ARELNES,

4
’

iwata

RAQRVAY T 51T 13.P8A%E CBC &L,



